

## Section 1: The general binomial expansion

## Solutions to Exercise level 1

$$\begin{aligned}
 1. \quad (i) \quad (1-2x)^{-2} &= 1 + (-2)(-2x) + \frac{-2 \times -3}{1 \times 2}(-2x)^2 + \frac{-2 \times -3 \times -4}{1 \times 2 \times 3}(-2x)^3 + \dots \\
 &= 1 + 4x + 12x^2 + 32x^3 + \dots \\
 &\text{valid for } -1 < 2x < 1 \\
 &\Rightarrow -\frac{1}{2} < x < \frac{1}{2}
 \end{aligned}$$

$$\begin{aligned}
 (ii) \quad \sqrt{1+x} &= (1+x)^{\frac{1}{2}} \\
 &= 1 + \frac{1}{2}x + \frac{\frac{1}{2} \times -\frac{1}{2}}{1 \times 2}x^2 + \frac{\frac{1}{2} \times -\frac{1}{2} \times -\frac{3}{2}}{1 \times 2 \times 3}x^3 + \dots \\
 &= 1 + \frac{1}{2}x - \frac{1}{8}x^2 + \frac{1}{16}x^3 + \dots \\
 &\text{valid for } -1 < x < 1
 \end{aligned}$$

$$\begin{aligned}
 (iii) \quad \frac{1}{1+3x} &= (1+3x)^{-1} \\
 &= 1 + (-1)(3x) + \frac{-1 \times -2}{1 \times 2}(3x)^2 + \frac{-1 \times -2 \times -3}{1 \times 2 \times 3}(3x)^3 + \dots \\
 &= 1 - 3x + 9x^2 - 27x^3 + \dots \\
 &\text{valid for } -1 < 3x < 1 \\
 &\Rightarrow -\frac{1}{3} < x < \frac{1}{3}
 \end{aligned}$$

$$\begin{aligned}
 (iv) \quad (1-x)^{-\frac{2}{3}} &= 1 + \left(-\frac{2}{3}\right)(-x) + \frac{-\frac{2}{3} \times -\frac{5}{3}}{1 \times 2}(-x)^2 + \frac{-\frac{2}{3} \times -\frac{5}{3} \times -\frac{8}{3}}{1 \times 2 \times 3}(-x)^3 + \dots \\
 &= 1 + \frac{2}{3}x + \frac{5}{9}x^2 + \frac{40}{81}x^3 + \dots \\
 &\text{valid for } -1 < x < 1
 \end{aligned}$$

$$\begin{aligned}
 2. \quad (i) \quad \sqrt{4+x} &= (4+x)^{\frac{1}{2}} = 4^{\frac{1}{2}} \left(1 + \frac{x}{4}\right)^{\frac{1}{2}} = 2 \left(1 + \frac{x}{4}\right)^{\frac{1}{2}} \\
 &= 2 \left(1 + \frac{1}{2} \left(\frac{x}{4}\right) + \frac{\frac{1}{2} \times -\frac{1}{2}}{1 \times 2} \left(\frac{x}{4}\right)^2 + \frac{\frac{1}{2} \times -\frac{1}{2} \times -\frac{3}{2}}{1 \times 2 \times 3} \left(\frac{x}{4}\right)^3 + \dots\right) \\
 &= 2 \left(1 + \frac{x}{8} - \frac{1}{8} \left(\frac{x^2}{16}\right) + \frac{1}{16} \left(\frac{x^3}{64}\right) + \dots\right) \\
 &= 2 + \frac{x}{4} - \frac{x^2}{64} + \frac{x^3}{512} + \dots \\
 &\text{valid for } -1 < \frac{x}{4} < 1 \\
 &\quad \quad \quad -4 < x < 4
 \end{aligned}$$

## Edexcel A level Maths Algebra 1 Exercise solutions

$$\begin{aligned}
 \text{(ii)} \quad \frac{1}{2+x} &= (2+x)^{-1} = 2^{-1} \left(1 + \frac{x}{2}\right)^{-1} = \frac{1}{2} \left(1 + \frac{x}{2}\right)^{-1} \\
 &= \frac{1}{2} \left(1 - \frac{x}{2} + \frac{-1 \times -2}{1 \times 2} \left(\frac{x}{2}\right)^2 + \frac{-1 \times -2 \times -3}{1 \times 2 \times 3} \left(\frac{x}{2}\right)^3 + \dots\right) \\
 &= \frac{1}{2} \left(1 - \frac{x}{2} + \frac{x^2}{4} - \frac{x^3}{8} + \dots\right) \\
 &= \frac{1}{2} - \frac{x}{4} + \frac{x^2}{8} - \frac{x^3}{16} + \dots
 \end{aligned}$$

$$\text{valid for } -1 < \frac{x}{2} < 1$$

$$-2 < x < 2$$

$$\begin{aligned}
 \text{(iii)} \quad (3-2x)^{-2} &= 3^{-2} \left(1 - \frac{2x}{3}\right)^{-2} = \frac{1}{9} \left(1 - \frac{2x}{3}\right)^{-2} \\
 &= \frac{1}{9} \left(1 - 2 \left(-\frac{2x}{3}\right) + \frac{-2 \times -3}{1 \times 2} \left(-\frac{2x}{3}\right)^2 + \frac{-2 \times -3 \times -4}{1 \times 2 \times 3} \left(-\frac{2x}{3}\right)^3 + \dots\right) \\
 &= \frac{1}{9} \left(1 + \frac{4x}{3} + 3 \left(\frac{4x^2}{9}\right) - 4 \left(-\frac{8x^3}{27}\right) + \dots\right) \\
 &= \frac{1}{9} + \frac{4x}{27} + \frac{4x^2}{27} + \frac{32x^3}{243} + \dots
 \end{aligned}$$

$$\text{valid for } -1 < \frac{2x}{3} < 1$$

$$-\frac{3}{2} < x < \frac{3}{2}$$

$$\begin{aligned}
 \text{(iv)} \quad (8-3x)^{\frac{1}{3}} &= 8^{\frac{1}{3}} \left(1 - \frac{3x}{8}\right)^{\frac{1}{3}} = 2 \left(1 - \frac{3x}{8}\right)^{\frac{1}{3}} \\
 &= 2 \left(1 + \frac{1}{3} \left(-\frac{3x}{8}\right) + \frac{\frac{1}{3} \times -\frac{2}{3}}{1 \times 2} \left(-\frac{3x}{8}\right)^2 + \frac{\frac{1}{3} \times -\frac{2}{3} \times -\frac{5}{3}}{1 \times 2 \times 3} \left(-\frac{3x}{8}\right)^3 + \dots\right) \\
 &= 2 \left(1 + \frac{1}{3} \left(-\frac{3x}{8}\right) - \frac{1}{9} \left(\frac{9x^2}{64}\right) + \frac{5}{81} \left(-\frac{27x^3}{512}\right) + \dots\right) \\
 &= 2 - \frac{x}{4} - \frac{x^2}{32} - \frac{5x^3}{768} + \dots
 \end{aligned}$$

$$\text{valid for } -1 < \frac{3x}{8} < 1$$

$$-\frac{8}{3} < x < \frac{8}{3}$$